Efficiency vs P,

- 1.2

0.4

0.2

efmciency vs p
=
I
#

Y RS S - —

Y SRR P — —

1Q

Ratio

1.

H

iy

0.9

107

IRy
=
o

‘?‘sz (Ge\}P3

fake+duplicates vs P,

T

]

0.8

0.6

Take+duplicates rate vs p

0.4

0.2

- 14
4k
L Fs
%
B EFag

...........................................

1Q

Ratio

llll!{

IC{HP ggd..n{vmu. +6p0evt
E ﬁégé %%igﬁ 1RO TLIERS 1000evt

= 0.1
20.09
20.08
o
50.07
5
0.06
0.05
0.04
0.03
0.02
0.01

1.2

Ratio

=

08

[oc]
W[

-2

Efficiency vs @

Ratio

0.8

0.6

0.4

fake+duplicates rate vs n

0.2

Ratio
=
s

1.2

e

w

[ fake+duplicates vs @]

o 0.2
20.18

] H
0.16f;

T

—

........

Ratio

| ]

3 = T

i T :

&1 K

L[| -+ 4
Fx-o-o- o e
gl

=




	Contents
	Page 1


